{c @ ) l C{ q = (b) A particle of mass 2 kg is attached to one end of a light elastic string of natural length
- 1 m and elastic constant 14 N/m. The other end of the string is fixed to a point A on

a smooth horizontal table. The particle is pulled across the table and released from
rest at a point C which is a distance 1-5 m from A.
If B is a point on AC such that IABl = 1m,

U

prove that the particle performs simple harmonic motion when travelling
from C to B.

@) calculate the time taken to travel from C to B.
(iii) prove that the particle then travels for%swith constant speed.
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